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INSTRUCTIONS FOR THE CANDIDATES
Write your Hall Ticket Number in the space provided on the
top of this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested

below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

Tally the number of pages and number of
guestions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in
serial order or any other discrepancy should be
got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated
below on the correct response against each item.

Example : @ . @

where {C) is the correct response.

Your responses to the items are to be indicatéd in the OMR
Answer Sheet given to you. If you mark at any place
other than in the circle in the OMR Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
OMR Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, you will
render yourself liable to disqualification.

The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. The candidate 1s allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Booklet at the end of the examination.

(i)

(iii)

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is ne negative marks for incorrect answers.
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Paper - IT1 / 558 - 111

1. AS - 19 is related to 1. AS- 19328 5020800356 ?
(A) Hire purchase A) ©3 E%oRben
(B) Balance sheet (B) o} oo 5§
(C) Tangible Assets (C) BI%03 edoen
(D) Leasing agreement (D) B adodo
2.  Operation of an eye camp is a 2.  Sod 35 8DBo Ve ©IN
(A) Social cost (A) PSR gy
(B) Social benefit (B) ~p&rey erdo
(C) Business expenditure (© 53*35%5 Rgeo
(D) Business cost D) agrs ey
3. Hedgingis a 3. b%oﬁ w30
(A) Liability control (A) s doholgien
(B) Development Activity (B) @9?355,)@ abeg:)één
(C) Risk Management technique © Béa& 36'5:)‘& g0
(D) Tax 1iabi]3ty minimisation (D) é;&& arciéé 690@60
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When an option holder exercise his
right to buy or sell it may have

possibilities.

(A) An option is said to be in-the-

(B)

©

D)

money when it is advantageous to
exercise it.

When exercise is not advantageous
it is called out of the money.

When option holder does not gain
or lose it is called at the money.

All of the above.

CRISIL is a

&)
(B)
(C)

D)

Cost Rating Agency
Money Multiplier
Credit Control Agency

None of the above

Risk Management tool is not

(A)

B)

(©)

Call option
Put option

Forward contracts
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7. A Combination of forwards by two
counter-parties with opposite but
matching needs is called :

(A) Swap

(B) Option
(C) Forward
(D) Future

8.  Refactoring charges have to be paid in
the case of :

(A) Maturity factoring
(B) With recourse facility
(C) Invoice factoring

(D) Full service factoring

9. Match the items of List - I with items of

List - I1.
List -1 List - 11
(a) RBI (i) NDA

(b) EXIM Bank (ii) Facilitating small
scale industries

(c) SIDBI (111) Credit control
(d) Capital (iv) Export/Import
adequacy finance
Codes :

(a) (b) (© (@)
@A @ @) @) )
(B) v) (i) @) @
(©) Gi) @) Gv) @)
D) @) Gv) @@ O
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B See Send
aregoé:

(c) SIDBI (1ii) DBHS JahHo|Bes

(@) 0508 (iv) S B/BH
Soredto c—sgéo
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@A © @ 3§ Gv)
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10. Match the items in List - I with the items

in List - I1.

_ List-1
(a) Delta (i)

(b) Vega (ii)

(c) Straddle (iii)

(d) Strangle (iv)

Codes :

(a) (b)

(A)

By @

(©

()

Paper-III

i) @Gv) @

(ii)

(iv) @ ®

(iv) (i)

List-II

Simultaneous purchase or
sale of both a call and put
options with the same
strike price.
Simultaneous sale or
purchase of both a call and
put options with the
different strike price.

The ratio of change in the
price of an option to the
change in price of the
underlying stock.

The measure of sensitivity
of option premiums with
respect to volatility of the
asset price.

() (d)

(1i)

(i) (v)

(iii)

(i) @

G A R

10. 208 T8I 23858508,

erdar-11
® .5 oS &5 SOAS S,
S $HZ® NEsveost

£ %oRen, wiiygo Saho

Dar O o8 ook 58 sons 985,
S 6RF% W seerdf
5o, wdiyso
© 2as W gouBBanoh 6 B8
SrEnH oBde &3S
E56° S Sy
@ 3ons W utyz86t wons SFopos
Do %S &5
20826 HB0DH
) :
(a) (b) (c) (d)
Ay G vy @ 3G
B) @ G (i) (Gv)
© Gv) ) @ (i)
D Gv) @) (i) @)
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11.

12,

Match the following items of List -1 with
the items in List - IT.

List-1 List - 11
(a) AS-2 (1) Segment
. Reporting
b)) AS-9 (i1) Intangible
Assets
{c) AS-17 (iii) Valuation of
Inventory
(d AS-26 (iv) Revenue
Recognition
Codes :
(@ (b) () (d)
Ay @ @ @G av)
B) Gv) Gu) G) @
(C) @i} 3v) @ Qv
D)y @ @) Gv) G
Assertion (A) :

The use of currency notes is replaced
by plastic money. The future will see
the electronic money clearance through
satellite networking.

Reason (R) :

Reserve Bank of India is encouraging
e-banking.

Codes :

(A) (A) is false but (R) is true.
(B) (A) is true but (R) 1s false.
(C) Both (A) and (R) are false.
(D) Both (A) and (R) are true.
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585 - 11 6°0 DAcIres® 2858308
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(a) AS-2 D) Derisd 388

b)) AS-9 () e ek

(c) AS-17  (ii) =Sgwd

a’awe)‘?goé;so

(d) AS-26 (iv) ovef B0

£, ¢ _

(@ () () @)
@ O @ 3y @
B) Gvy G G) @
(C) (i) Gv) @ ()
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B8ES (A):

g0l S as@rrR) SRS EHgest
D PHI Dby, S’ B
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$ByTren BB,

o8 (R) :

S s Balyy wvgofd H-argodofisdh
(P &)2en0d.

%%, :
(A)
(B)
©
(D)

(A) 636 83 5°J (R) ©5056 deso.
(A) 838 D220 20 (R) 05030 $3).
(A) S8 (R) Do 8,
(A) HH8c% (R) Botod J=o.
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13.

14,

Assertion (A) :
Sell-off is a process of strategic planning.
Reason (R) :

It is not improve the liquidity position
of the company.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct but (R) is incorrect.
{C) Both (A) and (R) are incorrect.

{D} (R) is correct but (A) is incorrect.

State whether each of the following
statements are True or False.

(a) Internal expansion is a business
combination.

(b) Consolidation is referred as
merger.

(¢) An unwilling acquisition is known
as takeover.

{d) A combination of two or more

companies into an existing
company is known as absorption.

Codes :

(A) (a) and (b) are true; (c) and (d) are
false. '

(B) (b)is true; (a), (c) and (d) are false.
(C) () is false, (a), (b) and (d) are true.

(D) (a) and (b} are false; (c} and (d) are
true.

Paper-III
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(C)  (A) 3085 (R) Bo&ir 38THH s05H.
D) (R)SO5H 0 (A) SODSO .

& (8ol DAY Tg RSO0 63“), a...?ﬁ“)
B96HBoHo’.

(a) @oSBE DKBes amgars SyEso.
b) 855 030 SoonEre JHOF.

© 23080 DECeH FBISEIe
O0LIPE.

(d) Hos Eo2dS® BoHo Sow DEND
5ode SoowEDH wosdSHotr.
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B) B 2 (@), (© B0 (d) .
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15. Assertion (A):

16.

OTCEI is a National exchange.
Reason (R) :

The member of OTCEI may be
individuals.

Codes :

(A) Both (A) and (R) are true but (R)
is the correct explanation of (A).

(B) Both (A) and (R) are false but (R)
is not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

A cluster of complimentary products
and services that are closely related in
the minds of customers but spread
across a diverse set of industries is
known as :

(A) Mega Markets
(B} Meta Markets
(C) Mixed Market

(D) Multiple Market

Paper-I11
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OTCEI 036 2§ »8ch Srdso.
o560 (R) :

OTCEI &%) Sabgen HASsEHe0.
555 :

(4) (A) H08a5%» (R) BoHd B8 $DSS
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(B) (A) 005 (R)Botdh ErE 802 =
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17.

18.

What are the advantages of online
Marketing ?

(A) Shopping from home.

(B) Making size of marketer
irrelevant.

(C) Making location of a marketer
irrelevant.

(D) All of the above.

Market space is

(A) Digital

(B) Physical

(C) Environmental _

(D) None of the above

Paper-Iil
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17. =388 Sr0oR GoE) orgrdD ?

(A) moBHod roR Joho.
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() &rgys B0 Hoo Pbabo S
Sosiso.
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19. Match the following :

List -1 List - II
(Characteristics) (Demand states)

(@) Consumers dislike (i) Declining demand
the product.

(b) Consumers begin (ii) Latent Demand
to buy products
less frequently or
not at all.

(c) Consumers are
attracted to
products that have
undesirable social
consequences.

(iii) Negative Demand

(d) Consumers have a (iv) Unwholesum
strong need that demand
cannot be satisfied
by existing
products in the
market.

Codes :

(@) (b) () (@)
@ O d) 3di) Gv)
(B) @) () G Gi)
(C© G di) @ v

D Gv) @ @) (D)

Paper-III

19. (Bod D 228H5S508
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(Characteristics)

® sacwrmese
5% avs

®) DA TEHen
EKHOH SEIFY
Bor w8 SR

List-~II
(Demand states)
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) 2853w asrol
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20.

21.

22,

Brand Equity refers to
(A)
(B)
©
D)

Brand extensions
Brand awareness
Brand assets and liabilities

Brand designing

B 2 B stands for
(A)
(B)
©
D)

Business to Busy ness
Business to Buying
Business to Business

None of the above

Match the following in List - I with
those in List - 11

List-1 List - I1

(a) Promotion mix (i) Cognitive

Dissonance

Post purchase (ii) Wal mart

(b)

behaviour

(¢) Advertising (iii) Public

Relations

DAGMAR

objectives
(d) Retail Mall
Codes :
(a) (b)
(it} (D)
@ G

@iv)

(c)

(iv)
(iii)
(iv)
(iii)

(d)
(i1)
(iv)
(iii)
(i1)

(A4)
(B)
(C)
D

i) @
vy @
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20, (grof
(A)
(B)
©
)

21.
(A)
(B)
©
(D)

AU RS RR T 0
%88 woll
{ero& DJBoSEo
[erol SrPSeS
lerol esne, FONON

[ero& ABS Toheo

B 2 B @08

HAIN Hod BE IV
TR0 S0l RS
R2ID Dol HRIDDH
2B s

8% -1 S8 -11
(@) EIPIS DFo () SABS
e08bS
b) TR olodd (i) S 5e§
(5583
(€) TogErS WE0Se (i) (e
aegoﬁreao XDo05Ren
d) 8BS srS (ivi DAGMAR
&8s :
(a) (b)) (e (d)
(A (i) @O @Gv) G
@ O @) ¢i) Gv)
©) Gy @ (@{v) (i)
Oy Gv) @) (i) (i)
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23. Market research intended to find out
the intentions of consumers for buying
a product is called

(A) Motivational Research

Product Research

(B)
(C) Promotion Research

(D) Communications Research

24. In the process of development of new
product, the next stage after testing in
the market is called

(A) lIdea generation

B

Business Analysis

(C) Concept Testing

(D) Product Launching

25. When looking at consumer income,
marketers are most interested in

(A) Deferred income

(B) Discretionary income

(C)

Per capita income

)

Inflationary income

Paper-II1
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Para Phrasing :

Answer the questions from 26 to 30 by
reading the following passage.

Internet marketing is referred to
as the marketing (or promotion) of
products and services over the internet.
It is considered as broad as in scope
because it also includes marketing via
e-mail, Electronic Customer
Relationship Management (ECRM).
Internet marketing ties together the
creative and technical aspects of
internet, including design,
development, advertising, sales etc.

Internet marketing is less
expensive when examining the ratio of
cost to the reach of target audience. It
allows consumers to search, compare
and buy products easily with much
comfort. But one of the challenge of
internet marketing is cyber crimes or
security concerns.

26. The alternate names used for internet
- marketing.

(a) Online marketing

(b) e-marketing

(c) Web marketing

(d) CRM

Codes :

(A) (a), (b), (c) are correct
(B) (a), (d), (b) are correct
(C) (b), (c) are correct

(D) (a), (d) are correct

Paper-I1I
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& Bob JoredH 36D 26 Dol 305 (HHeo
JSdrgroren TreDod.
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26. m0LBYS SrBBoRD F°F HEEmed D,
(a) o8BS srBoh
®) e-SrBoR
() 35 $r8BoR
(d) CRM
§8en :
(A) (), (B), (c) SBEHID
B) (a), (@), (b) SOEID
©) (), (c) BBIHD

(D) (a), (d) SORSD
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33. The sequence of training process is

(a) inviting experts

(b) identifying the training needs
correctly

(c) imparting specific knowledge

(d) devising suitable

programme

training

(e) measuring impact
Codes :

4) (), (), (©), (e} and (d)
(B) (b), (a), (d), (¢) and (e)
(C) (a), (b), (), (d) and (e)
(D) (&), (@), (b), (c) and (d)

34. The Industrial Disputes Act came into
force in the year

(A) 1948 (B)
(©) 1950

1947
(D) 1958

35. Off-The-Job training methods include

(A) Attending workshops at other
places

(B) Apprenticeship Training
(C) Internship Training
(D) All the above

36. Social security (Minimum standards)
convention include :

(A) Service Benefits

(B) Invalidity benefit

(C) Employment injury benefit
(D) Al of the above
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34,

35.

36.

B5es (HBAD ESeY)

(@) JYwod fkdotio
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§€en :

A M), (@), ©), () et (d)
(B) (), (a), (d), (c) B (e)
(C) (a), (b), {0), (d) B (e)
D) (), (a), (b), (c) B (d)

O,
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B05%)508° een 6508 SN0,
(A) 1948 (B) 1947
©) 1950 (D) 1958

a&'segﬁ ﬁ‘gmbé 20D DD B%en K)Cgéaeés'
Soad

(A) =38 §0°e>e35 SBrBen sFa8SSo
(B) oBoBERS B5es

(C) =oLBD 8%

(D) s

PErRE FSE (SHD PEreren) $E5568
3OY$D

(A) S8 ergren

(B) B0 ergren (invalidity benefit)
© 655655065 Qolire redire ergio
(D) 8y
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37.

38.

39.

40.

41.

Aptitude Tests include
(A)
®)
(©€)
D)

Intelligence Test
Skill Test
Mechanical Aptitude
All of the above

“Leaders are born” is associated with :
(A)
B)
©)
(D)

Greatman Theory

Bounded Rationality Theory
(A) and (B)

None of the above

The Industrial Policy Resolutions came
into force in the year

(A) 1947
(C) 1956

(B)* 1970
(D) 1966

Industries whose workers are not

organised through Trade Unions are
called

A)
B)
(©)
)

Unorganised Industries
Sweated Industries
Scientific Industries

Government Industries

Job clusters and key rates are used to
determine

(A) Rational Wage

(B) Living Wage

(C) Fair Wage

(D) Occupational Wage

Paper-III
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37.

38.

39.

40.

41.

O MM e

gy Dbges® D65
A) Dords J6K
(B) IBdemgo 368
(C) oso|@8 385
©) 28

“BoEH508 a’g)e:géé‘sﬁ T Hren” o3
_ & Sowmofo I%b.

(A) HHIFHBve ?oa;oéo

(B) evSthenie drdard deposo
(C) (A) Sodasw (B)

D) 28 db =

FBEE DS Booysoen eSend*8
SN Jod&Bo
(A) 1947
(C) 1956

(B) 1970
(D) 1966

08 Dogre toe Dozréso =° e
o JBIFHDeD OtP,

(A)  ©BoHBS HOFH

(B) (D8 HO|FSoe

©) wodh Hb(ESen

(D) (H8H& é‘atéaéwo

G Damsten, SoggBigs
5 ABoWoSTAE ABIPATS.
(A) BorHE Jsso

(B) #£535 880

(C) Hd0ds JsSo

D) $BHEDS J80

C-03-17




D O

42. Workers Participation is possible at
levels.

(A) All levels

(B) Factory level
(C) Plant level

(D) (B) and (C) only

438. The term “Collective Bargaining” is
coined by

A) ILO

(B) Sydney and Beatrice Webb
(C) McGregor and Walkar

(D} Zupanov and Geddles

44, is associated with Balance
Score Card.

(A) Drucker

(B) C.K. Prahlad

(C) Kaplan

(D) None of the above

45. Job rotation is an example for

(A) dJob Analysis

(B) Job Evaluation
(C) Job Enrichment
(D) Job Enlargement

Paper-III

42.

43.

44,

45.

a&hen dendoHsteo
3;0.)3(0)33 .3"«:55{»@630&.

) oy ;3(;01)065
(B) 550 Fows®
(€) oS Fows®

(D) (B) 08050 (C) S5

“B80Y B0” ©F JmPY) HEJB0NS T

B 2.6.4.
(B) &), BAT 35
(C) E [@rG, =56

D) 538, RS

o388 emgBY) A =5
JODOLO HYat.

A) &85

(B) 3. 6
© =5

(D) PBIEP

S OIS 8 AIESes.
A) =5 O

(B) erd 0805

(C) erd ASBS0LS

D) &8 dSerEol

C-03-17




46.

47.

48.

An instrument for making payment
against the document is :

A)
(B)
©
D)

Bank note documentary collection
Open account pay slip
Conditional undertaking contract

Letter of credit

Which of the following are two forms of
vertical FDI ?

(a)
(b)
(¢}
Codes :

(A) (2) and (b)

(B) (a) and (¢}

(C) (b)and (0)

(D) None of the above

Backward vertical FDI
Forward vertical FDI

Horizontal vertical FDI

Which combination of the following
factors have driven globalisation in the
recent past ?

(a) Growth of MNCs.
(b)
(c)
Codes :

(A) (a)and (b)

(B) (a) and (¢

(C) (b) and (o)
(D) (a), (b) and (c)

Internationalisation of finance.

Increased international trade.

Paper-II1
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46.

47.

48.

AR

DB $58850re DPOWEPIB 6 DO
{(Instrument) :

(A)
(B)

) [BHos SrES Tolrdy (Hire
Bl

HEHD Bl

aro8 Sew Dlgre Hdren

Open gra° DYoo G

D)

% Bod B D& FDI & Soofodd
Bod Jewsd Sovaren ?

(a) Fpg Densy &% FDI

(by FrEB Vensy ErH FDI
(€) NVErods Jensd G FDI
EGEJ :

(A) (a) 300cs (b)

(B) (a) oBckw (¢)

(C) (b) Hd® (0)

D) 53D =H

&3 BH3DHDRS D sEsre DHareRn
SSodEgsws, & a’)ao’égea’mé‘
EPBHRID ?

(a) MNCe @5)5@)@.

(b) B8 wodEasEses.

() DOAS @oéc;@da STEPEE.
%8 :

(A) (a) B (b)

(B) (a) 20005 (¢)

(C) (b) SoBcso (c)

(D) (a), (b) 00 (c)
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49. Factor Endowment Theory

international trade was propounded
by :

(A) David Ricardo

(B) J.S. Mill

(C} C.P. Kindleberges

(D) Bertil Ohlin

80. Match List - I with List - II and select
the correct answer using codes given

below the lists :

List - I List - 11
(2) World Bank (i 1956
(b) IDA (i) 1960
(c) ADB (i) 1966
(d) International Financial (iv) 1944
Corporation
Codes :
(@ ) (© @
(@) Gv) @) @) @)
B © @) (G @)
© Gv) () Gi) @
D) i) G) @ G
Paper-111
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50.

49, @oéc;édb agae8 Factor Endowment

?oa;ow&‘& (SBPBoIST
(4) 328 o8’
B) 8.0 S
©) 2.5 éoaéa)gﬁ
(D) BYS 4208

BR3D0dS ot 43BPACD)

o 13 o 11 8 28550 $0@s

RSrgrard) dawosol.

erdge-1 A |
(a) D05 &P (i) 1956
(b} 2.8.9. (ii) 1960
(©) d.8.9. (iii) 1966
(d) BotBYBSS PTYOHS  (iv) 1944

SN

8%, :

(@) (b) (c) (d)

@A)y @ Gi) @ 3G

B @O G G @)

© W G (i) @

D) @) G @ @Gv)
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51.

52.

53.

Which items are included in the
negative list of imports out of the
combination given below ?

@
(b)
(©)
(@
Codes :
(&)
B)
(©)
)

Restricted items
Banned items
Canalised items

Items of open general license

(a), (¢} and (d)
(), (b) and (d)
(@), (), (c) and (d)
(a), (b) and (c)

Anti-dumping and counter veilling
duties are imposed under :

(A) TRIMS
(B) TRIPS
(C) Customs Tariff Ac_t, 1975

(D) Regional Trade agreement

Commonwealth preferences of trade
exists with India and :

(A)
(B)
(©
)

Pakistan
China
Mauritius

South Africa
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51.

52.

53.

A GO R

BrHSDHES e ol D awerHE
B8 erderd® e ?

(a)
®)
©)
(d)
&5, :
(A)
(B)
(€)
(D)

so¥ Dfodald wozw
:)Eaeg @oIeen
canalised ®o3%en

e wlrgd BN voTw

(a), (c) obcsw (d)
(), (b) BcS (d)
(@), (b), (c) BBt (d)
(a), (b) 0B (c)

$50908® SoodEeRs X888, 63s°s

oo 808 DQR.
(A) TRIMS
(B) TRIPS

(C) BKHDS Doosre :Sgo, 1975

(D) Brodch SBo efonlds

SIS (Frsnas TREED FRESBED
8o » DS &d ?

(A) 8>S
®
©

)

[T
PV aTe S 1)

S P
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54. Assertion (A):

55.

Japan exports engineering machinery.
Reason (R) :

Japan has abundant capital and
Engineering machinery is capital
intensive.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Assertion (A) :

World Bank was created to provide
long-term finance to member countries.

Reason (R) :

IMF was created to solve short term
balance of payments problem of member
countries.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and (R)
is not the correct explanation of
(A).

(C) (A) is true but (R) is false.

(D) (R) is true but (A) is false.

Paper-III

54. mﬁgzs A):

55.

25rS B0asdB0R HOETPORH HrDHS Fnod.
U0 (R) ¢

25rS B¥ost Soresso JRoore HH.
5020008 JB5rer HPOES AolBESSS
BoBDHD.

555') :

(A)  (A) B0 (R) Bo&r» 3B@S (R),
(A) % IBGS DB

(B) (A) 58 (R) Botr SBRSD 509
(A)  (R) SOGS DS5Ge0 wo8%.

(C)  (A) JuDI6 527 (R) DesPodd 0.
(D) (A) SBGHIB = (R) S0G3H.

éa’»gé A):

BB 8808 Do IMEPETIB
(DHos aro 5;3:0:‘52:&05.

se8eo (R) :

RRRSPOE FYE Nexe Sk H8HBoSE0
5% IMF §)josndon.

5553 :

(A)  (A) B (R) Bokr $OGHI, (R),
(A) & HBSS DH6w.

(B) (A) %B8cn (R) Botsr $OGSD 0
(R), (A) & 3035 D560 52,

(C) (A) J&o =22 (R) 8.
D) (A) 85 ==J (R) ‘.Gé?go.
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56.

57.

Match the items of List - I with the
items of List - IT and select the correct
answer .

List -1 List - I1
(a) Private (1) Socialism
ownership
(b) Govt. ownership (ii) Capitalism

The market for
new long-term
capital.

()

(iii) Primary
market

(d) The market for (iv) Secondary

sale and purchase  market
of already issued’
securities
Codes :
(a)
(i1}
(ii)
@
(iii)

(b) (c) (d)
@ i @)
(i) Gvy Q@
Gi) (i) (@Gv)
(iv), @ Q@)

(A)
(B)
©
)

Which of the following are the objectives
of exchange control ?

(@
(b)
()
(d) | To check capital flight
Codes :

(A) (a) and (b)

(B) (a), (b) and (¢)

(©) (a), (), () and (d)

(D) (), {c) and (d)

To conserve foreign exchange
To regulate foreign companies

To curb consumption
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56.

57.

erdore-1
()RPBES cradrsgo (1)
(b)Hgpey cSrasirdgo (i)
(0) YOS SororsiS (i)
SooB)ey
(d) 2OBEE 2BIS

2Emsade S,
@833&5"@ 30 e]=S!
EODS ESJ"B&&JS'

A O

BoB 23pdS ardee - 1 HBcko erdae - 11
&5 oo SeoEr HOFE marens’
2808508 ¢

erdae-11
PRIPRETL0
Degnlordarto

B5ed SeTpd

(v) Exdok SeBus

55_5(3 .

(a)
(1)
(1)
oy
(111)

(b) (c)
(i) (id)
@ii1) (iv)
(i1) (iid)
av) ®

(d)
(iv)
(i)

(iv)
i)

(&)
(B)
(C)
@)

& (Bob A 2D (5 K88 DaDoles
agaen ?

() OBF Sr8E I Sosoihe
®) BY Sondod EHafEsoHes
© OIRPH SHoHes

(A oo I é@
DcdholBothe

%) :
(A)
(B)
(C)
(D)

Sorod o)

(a) 085 (b)

(a), (b) 08A (c)
(a), (b), (c) $oBAH (d)
(b), (¢) 005 (d)
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98. Match List - T with List - IT and select
correct answer using the codes given
below the lists :

List-1 List - 11
(@) Customs Union @ EC
(b) Free trade area (ii) EEC
{c) Common market (i11) OPEC
(d) Cartel (iv) EFTA
Codes :

(a) (b) (c) (d)
A) @ @) (v i)
(B) (i) () (v) (@)
© G Gv) @ ii)
M © @) i) (@)

59. Match List - I with List - IT and select

the correct answer using the codes given
below the lists :

(a}

(b)

()
(d)

List -1

WTO Trade Review (1)

Policy Body
Urugvay Round
Negotiation
WTO

Patents
(Amendment) Act

Codes :

(A)
(B)
(©)
(D)

(@ (b) () (@
® G Gi) (v
M (i) G) (@)
() G @ (@v)
(i) @) @)

Paper-II1

(v)

List - IT
1997
(i) 1995

(iii) 1993
(iv) 1999

59.
DIEEETR) JoHElod -

AT -

WTO amdleg 808

AGPD 5653’@

663?%5 ok

QoHdoen

WTO

DBoy
(358¢s) rﬁégo

(a)
(b)

(e
(d)

£8: .
(@) (b) () (@)
(1 3{) (3iD) (iv)
() (i) (i) (iv)
(i) (i) () @iv)
(1) (ii) 1) (iv)

(&)
(B)
(C)
(D)
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58. & (SoSINS wrdae I Ho8ake I &9
VOTOD EIYH, TBES EGEJQ’SG SR
QB BIrered) doiHsod

erdar-1 ardae-I1
(@)  ADHB,BH 1 EC
oosre Soxvo
(b) ':5\)‘5::3) TrBey (oo (i) EEC
(© 5HS SrBn (i11) OPEC
) =S5 (iv) EFTA
5% :
(@) (b) (o) (d)
A O G Gv) (i)
B) () @) Gv) @
© G) Gv) G (i)
O @ @ d¢i) Gv)

&8 ($08 &Y REJE)Er TS (B0l B

g - IT
(1) 1997

(i) 1995

(iii) 1993
(iv) 1999




60. Match List - I with List - II and select

61.

62.

(a)

the correct answer using the codes given
below the lists.

List -1

Balance of

List - 11
(i) Purchase of

Payment deficits foreign goods

(b) Investment (ii) Sale of goods
income abroad
(¢ Merchandise (iii) Largely
imports caused by
excess of
imports in
merchandise
(d) Merchandise (iv) Dividends
exports interest etc.
received from
abroad
Codes :
(@ () (@ (@@
A @@ @ @) v
B @) Gv) @ @@
©) @) @) @) @

M Gi) Gv) @) @

Perquisites are taxable under section

@ 17y
© 112

®) 30
D) 173

The percentage of Salary to be
considered for the calculation of HRA
when the house is situated in a
Metropolitan City is

(A) 40%
(Cy 30%

B) 50%
D)y 12%
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60. %8 30D TBI asIHEHSE® SS56° aQd

JEPGPTRY doSsPod.
erdar-1
(2)30oD Do & (1)
(b)%)egm& erodo  (i1)

(0)J3%% BIHHHeD

(d) ¥ AHDhHen  (iv)

S8y :

(a) (b) (c)
@ Gy @i
@) Gv) @
(i) (i) (1v)
(i) @(v) (@b

A4)
(B)
©
D)

61. éaoagezﬁ)

158 BI.
A 17
© 172

62.
o3 w03 3 8,03

(1)

epfge-I1
288 Shde
R
DB ost
She edyso
%% ANHS
B

e AGEIG
DBe ol
faFATaleln]
S

8 Exgte

(d)
(v)
@)
@
(@)

g0 8ol FRIEY

B 3(b)
D) 173)

iro BESFOLS SiiSos® D 208

LS 50808

0808 280 T80 :

(A) 40%
(C) 30%

B) 50%
D) 12%
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63. Exemption limit of Gratuity received by | g3. @3&5 BoK ﬁ&‘esn PodS @oé.méé Swéo
a private sector employee. 7 $5% a;g,g;sqpoém&géaog

(A) T10,00,000 (A) T 10,00,000

(B) 3,50,000 (B) ¥3,50,000

(C) ¥5,00,000 (C) %5,00,000

(D) T15,00,000 (D) ¥15,00,000

64. Municipal Tax is levied on .| 64 SooSeS SR SR, )

DBoSHEod.

(A) GAV (B) NAV
(A) GAV (B) NAV

(C) FRV (D) MRV
(C) FRV (D) MRV

. h the f ing :
85 Mateh the following 65. 808 B aBSESOA -
List - I List - IT B
erdor-1 edgr-I1
(a) Additional Depreciation (i) 25%
(a) OBIH S%irdSe i) 25%
(b) Technical know-how (il) 20%
(b) Fcidg Do (i) 20%

(¢) Annual publication (iii) 15%
(c) 8 RdoSéBso Jdsee (iil) 15%
Of bOOkS m@m f ¥ S
. . . 0
(d) Air Conditioners (iv) 100% @) dowb Sols 5% () 100%
Codes :

%‘EJ:
(@) (b) (¢) @
(A Gi) G G (v)

(8 (b) (o) (d)
(A) Gy @ @) (iv)

B) @O @) 3Gv) Gii) By B @) @(v) (i)
© @ Gi) i) @v) © O G Gi) Gv)
M G) @ ((v) Gii) @M G) @ Gv) (i)
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66.

67.

An assessee acquired a House Property
from his father on 1.10.1970. He
renovated the house on 15.9.1979.
Indexed cost of improvement will be
done taking the CII of the year

(A) 1980-81

B) 1979-80

(C) 1970-71

(D) Indexation will not be done

Assertion (A) :

All Assessees are required to follow a
uniform financial year.

Reason (R) :

There are exceptions to the previous
year.

Codes :

(A) (A) is correct but (R) is wrong

(B) (A) and (R) are correct

(C) (A) is wrong but (R) is correct

D) (A) and (R) both are wrong
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66. &% ey &5 Sold woe a8 HIFRD

Hogdeso oyee 1.10.1970 T oD,
15.9.1979 % & ?1)555_?:), @aée)g HODTED.
oD KR oY 50508 SrdHEse
S0  ad3@rhood)d  ClII

(A) 1980-81
(B) 1979-80
(C) 1970-71

(D) “erdEben Bohadd

é:»gé A):

sRooltr 2.8 5%y RpSes BoBSyooRy
9DNBoTeD.

odeee (R) :

K& BoSETDB B WFawoHeo L.
A) (A) $BISE =D (R) 83

(B) (A) HH8csw (R) Do HOTID
©) (A) 8% == (R) p3latesvrala

D) (A) 5060 (R) Dok 35
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74. Find the Gross Annual Value when

75.

MRV= ¥ 3,60,000; FRV= ¥ 3,50,000;
SR= ¥ 3,40,000 and Annual
Rent = ¥ 4,00,000.

(A) ¥ 3,60,000
(B) ¥3,50,000
(C) ¥4,00,000
(D} ¥3,40,000

For claiming exemption under Section
54B the assessee should acquire

(A) Urban agricultural land
(B) Rural agricultural land
(C) Any agricultural land
(D) None of the above

-00o0-

74. MRV=% 3,60,000; FRV=%¢ 3,50,000;

75.

SR=% 3,40,000 805 AR=7% 4,00,000
OVJD Ku;o TBE DenddH BHAPS0’.

(A) %3,60,000
(B) 3,50,000
(C) T 4,00,000
(D) 3,40,000

PES  54B 808 DSBowod SPosceda
o BorHOD HorsBH,

(A) D& S55A0H 4P
(B) (rdde BscH 4w
(©) 2B a8 SEFDH g
(D) 28 8 =%

-00o0-
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